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2017HE =3 13 2830 LASAD
A UAS AL
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Ehel: plaale (Ste: &)
SA-EH A (SA) - MRAE - BES Ofl &F 4 I EH Husz
Qe E AT 263,499 249,439 14,060
2 59,578 59,698 2120
Al 203,921 189,741 14,180
sy s 193,839 183,619 10,220
= 59,578 59,698 A 120
Al 134,261 123,921 10,340
olaa el 193,839 183,619 10,220
2 59,578 59,698 A 120
Al 134,261 123,921 10,340
g 2¢ 52,246 51,406 840
201 et 30,642 29,802 840
01 AtR2t2lHl 30,642 29,802 840
megsg 840 0 840
OF2BINae 92 &S ¢
70,0002 *42% +33] 840 0 840
ClEAANRUEIE XA 24,995 25,115 ~120
2 24,995 25,115 ~ 120
101 Q1244 18,254 16,200 2,054
2 18,254 16,200 2,054
04 JIZHRZENSES 18,254 16,200 2,054
olzigactl 04U 288 X))
3 &18,254,0002 18,254 16,200 2,054
3 18,254 16,200 2,054
201 Lty 3.420 3,959 A 539
2 3,420 3,959 539
01 AbR2teldl 3.420 3,959 539
molEYz A2E Y S FF1,500,000¥ 1,500 1,919 A419
2 1,500 1,919 A 419
D=L 1,920 2,040 ~ 120
OCAEIR =T ZA 2 E1,920,000& 1,920 2,040 ~ 120
2 1,920 2,040 ~ 120
202 OfHl 3.321 4,956 A 1,635
2 3.321 4,956 A 1,635
01 2L 01| 3,321 4,956 A~ 1,635
moALR =& 2 33,321,000& 3.821 4,956 A 1,635
2 3,321 4,956 A 1,635
FOUS=YR XY 82,015 72,515 9,500
405 RH&HF S b 10,600 1,100 9,500
01 a2 EF S 10,600 1,100 9,500
WFQUES - 02 & ZH wHTY 10,600 1,100 9,500
OFUSEZS Aelzto o))
950,0002 = 10CH 9,500 0 9,500
HY 2L A 69,660 65,820 3,840
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SA-3H-S(3AH) - MRAS - BES Off &t 24 INEH Hns2
Jl= &l 69,660 65,820 3,840
Jl=2&34| 69,660 65,820 3,840
201 LEr2A | 23,460 22,620 840
01 At2 22l bl 23,460 22,620 840
D=l 840 0 840
oOFJ=2(1g B) 7,000 «1&x10€ 123 840 0 840
202 o4 Hl 42,000 39,000 3,000
01 SLHOHI 42,000 39,000 3,000
m2UH=E 2,400 0 2,400
oFJtz(1g B) 200,000& x1H « 128 2,400 0 2,400
w2t =& 600 0 600
OFI=(1g8 &) 50,0003 x1H 128 600 0 600




